HppaiimonajaibHbIle YpaBHEHUA.

AnreOpa 1 Hadyalla aHaim3a. 11 kmace



Jx—1=x-7
x—1=x"-14x+49
x°—15x+50=0

x=10 x=35—nocmopounuu.

Omeem. 10



JlomaiHee 3a1aHue (BCeM)
[IpuHecTr yuyeOHMK 4.2
Pemre ypaBHEHUS:

x = x+1=+/8—4x

Jx-7=0 V2x +4fx=3 =-1

«J{.\_'+5=O Nx+17 —afx+1=2
x+1=3 J1=2x = f13+x=+fx+4
2x+3 =x ‘\/5*‘«;@ =3




Tonbko npodunb

\/4x+1+\/3x—2=5
mL+J5—x::JL—2x

Vgii—lsz—Jx+8




Pewume ypaenenusi :
2x  15-32x" 3x

2x—=3 4x2—=9  2x+3
6 13-7x 3

x*—4x+3 l—x x—23
6 12 1

x2=2x x*+2x x




